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1. (2022 « JLHERL « ) WHENLZEE X ~NGB,0°), #HP(X>5=02, M P1<X<3)=

EBHE: 03
AT B IR Hh 2 A,
Pl<X<3)=P(B3<X<5=PX>3)-P(X>5)=0.5-0.2=0.3.

2. (2023 « IHZRGFFE =8 « %) CHIMENIEZE X, 7, ,T£53X~B(6,§), Y~N(u,c’), EX)=EY),

P(‘Y‘<2)=0.3, M P(Y > 6) =

EBHE: 02
FE AT -

ﬁﬂﬂX~B(6,§), ﬁﬁuE(X)zéxézz, N EX)=EY), MLLEXY)=2, S u=2,

mE, P(Y|<2)=P(-2<Y<2)=0.3, HIXFRMLE,

PlY 2 0)= MY <-2)=03—P(—2<) €2)=0.2.

3.(2023 <Ll ZREEL — 1 ohed ) FEEERIE 1000 NS InE L, kst & IR M IEZRS 5346 N(100,07) 5
A P(B0<E<100)=0.45, NfETFSE 120 72 PA ER)IFAENEN ¢ D

(A) 25 (B) 50 (C) 75 (D) 100
EX: B
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1-P(80< X <120) 1-2P(80<X <100) 1-2x0.45
? P 2

At LUK @i fE 120 43 LA _E 2245 NEZ) 81000 x 0.05 = 50.

aiE, P(X >120) = =0.05»
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4. (2023 * A« k) NG 1ol — BN RSO TR I G = X, RS R I X TR A




ki

IERD4 N(50,6°), H P(X>20)=09, CARZETARKIHEET
TN —3 g T K.

ZZE: 100

AT -

mE, HAE, P(X>20)=09, FilAP(X <20)=1-09=0.1, HXI#MH, PX >80)=P(X <20)=0.1,

X 8] [20,80] WHIH 80 K, NIIAT EAfH

FrLL P(20< X <80)=1-P(X <20)-P(X >80)=1-0.1-0.1=0.8,
NAZFE T AR R A B EAE X 8] [20,80] N KA 80 K,

7 LA AN — 36 T % ~ 100 K.
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5. (2023 « TUAE « Jokook) BT 2B /2107 5 iR FE bR I IEZS 2046 N(100,6°) , RERTEFR AT 99
£ 101 Z A=y Roah, AR m i) R FR A 2] 95.45%, NFHFHARETZ, Hiffo 22N

(Bff: 35 X ~ N(u,0%)» W P(X -y <20)~0.9545)

1
w1

2
AT

Fhéaddli, P(X -y <20)=P(20<X—-pu<20)=P(u-20<X<u+20)=0.9545 Q©,

AR, FREREERMAESSE N100,6°) = 1=100, fRADE: P100-20 < X <100+20) ~0.9545 ,

PR, A Rk 95.45%, B P(99 < X <101)>95.45%, ILHT (99,101) Rl (100 — 20,100+ 25).
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6. (2023 « ZZIHAEL « Sk k) NTMITESE (EERFEATE) (2019~2030 ) (< T4 RN 5 AN CUE i
REERIRE TAEREIL) SRR, fiR 2030 AR RIE RN E BoR, MOk A BT 27 A 4k
JAg AT . T e o B rp A 2 A ) B AR BRI AT T A, IO 200 4 22 AR I B ABAT B A4
15 2040 BIREAE s AR 7 A 57 B
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(1) 3KRiX 200 AR E P x f15 2% s s (Rl — A 5dE B X TR B A/EARER)

(2) HAR AT E T BT, SR AERARE Z IRINIES A6 N(w,07)» Hb w ITCAEEAR % X, o
ITACNFEARTT 2 57 .

OFMFZIER 341, K P(50.73<Z <69.27);

@F MIZAL AL AL 50 %524, 18 X RIRIX 50 454 AR EA T X TH (50.73,69.27] NI EL,  FIFHOR
25K, KEX).

SBEHG: 86 927, B Z ~N(u,0°), W P(u—0<Z< u+0)~0.6827, P(u—20<Z < u+20)~0.9545,

il

>

P(u—-30c<Z<u+30)~=0.9973.

fE: (1) HEAH, ¥x=40x0.02+50x0.3+60x0.4+70x0.23+80x0.04+90x0.01 =60,

5% = (40— 60)* x 0.02 + (50 — 60)> x 0.3+ (70 — 60)* x 0.23 + (80 — 60)° x 0.04 + (90 — 60)> x 0.01 = 86.

(2) OHME, u=60, o’>=86, FTllo=+86~9.27,

A N 1—0=60-927=50.73 , 1+0=60+927=69.27 , Pt LA

P(50.73<Z2<6927)=P(u—o0<ZL u+0oc)=0.6827.
@

Or1g, X ~ B(50,0.6827), ALl E(X)=50x0.6827 =34.135.



